
Example: M = N = 2
>> f = [ 1 2; 3 4]
f =
     1     2
     3     4

Fft2
2-D fast Fourier transform

>> fft2(f)
ans =
    10    -2
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>> fft2(f)
ans =
    10    -2
    -4     0
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Using 1-D DFT on the rows, followed by the 1-D DFT on the columns of the DFT coefficients, obtained in the 
previous step.

f =
     1     2
     3     4

>> fft2(f)
ans =
    10    -2
    -4     0

Basis Images
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